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· Introduction
In RAN4 NR#3 meeting R4-1709901 was agreed.

This paper provides further discussion on measurement definitions and reference point.
· Discussion
· UE architecture:
LTE and mm wave NR receivers shall be implemented on the different RFIC. Thus no interruption for cell below 6GHz if NSA operation is performed on cell above e.g.6GHz. No interruption for cell above 6GHz if NSA operation is performed on cell below e.g.6GHz
Proposal1: LTE and mm wave NR receivers shall be implemented on the different RFIC.
· Interruption requirement related to NR SCS:
Interruption aggressive:

Since the LTE and NR may share the same RFIC if the frequency range is below 6GHz, it is reasonable to assume that retuning time can be reused from LTE 0.5ms.

If NR is the aggressive and the frequency range of the aggressive is below 6GHz, it can be assumed that 0.5ms interruption will act on the victim.

If LTE is the aggressive and the frequency range of the aggressive is below 6GHz, it can be assumed that 0.5ms interruption will act on the victim.
Proposal2: If the frequency range of the aggressive is below 6GHz, 0.5ms RF retuning time shall be assumed.

Then we need to find out whether the victim’s TTI is bigger than 0.5ms or not.
Interruption victim:

If interruption victim is LTE, the resolution of interruption will always be 1ms since LTE SCS is 15KHz. 

If interruption victim is NR, the resolution of interruption will depend on TTI of NR. If the TTI is bigger than 0.5ms, then the interruption resolution will be 1ms. If the TTI is smaller or equal to 0.5 ms, the interruption resolution will be 0.5ms.

Proposal3: It can be assumed that 0.5ms interruption on the victim if the victim’s TTI is smaller or equal to 0.5ms.

Proposal4: It can be assumed that 1ms interruption on the victim if the victim’s TTI is bigger than 0.5ms.
Proposal5: It can be assumed that 1ms interruption on the victim if the victim is LTE
· Unit of interruption length caused by NSA operation 
It is proposed to use unit of ms (subframe) for interruption length. If uses number of symbols for interruption length, difference SCS will result in different number of symbols for the same 0.5ms interruption.
Proposal6: It is proposed to use unit of ms (subframe) for interruption length.
· CR structure:
Proposal7: All interruption requirements whose victim is LTE are defined in TS36.133. All interruption requirements whose victim is NR are defined in TS38.133
· Conclusion

This contribution provides discussions on the interruption caused by NSA operation
Proposal1: LTE and mm wave NR receivers shall be implemented on the different RFIC.
Proposal2: If the frequency range of the aggressive is below 6GHz, 0.5ms RF retuning time shall be assumed.

Proposal3: It can be assumed that 0.5ms interruption on the victim if the victim’s TTI is smaller or equal to 0.5ms.

Proposal4: It can be assumed that 1ms interruption on the victim if the victim’s TTI is bigger than 0.5ms.
Proposal5: It can be assumed that 1ms interruption on the victim if the victim is LTE
Proposal6: It is proposed to use unit of ms (subframe) for interruption length.
Proposal7: All interruption requirements whose victim is LTE are defined in TS36.133. All interruption requirements whose victim is NR are defined in TS38.133
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